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คาํนํา 
เป็นท่ีทราบกนัดีวา่ภาษาองักฤษมีความสาํคญัและจาํเป็นอยา่งยิง่ยวดต่อการกา้วสู่

การเป็นสมาชิกประชาคมเศรษฐกิจอาเซียนในปีพทุธศกัราช 2558 ซ่ึงจะทาํใหก้ารแข่งขนั
เขม้ขน้ข้ึน ทั้งดา้นเศรษฐกิจ การศึกษา การทาํงาน จากเดิมท่ีตอ้งแข่งขนักบัคนเพียง 60 กวา่
ลา้นคนต่อไปจะเป็นการแข่งขนัระหวา่งประชากรของประชาคมเศรษฐกิจอาเซียนซ่ึงมี
จาํนวนกวา่ 600 ลา้นคน นัน่หมายความวา่การแข่งขนัจะเขม้ขน้ข้ึนอยา่งมาก และแน่นอนวา่
ภาษาท่ีตอ้งใชส่ื้อสารคือภาษาองักฤษ 
 ดว้ยเหตุผลท่ีกล่าวดา้นตน้ทาํใหม้องเห็นภาพวา่ ภาษาองักฤษมีความสาํคญัมากต่อ
การศึกษาและการประกอบอาชีพเพราะสถาบนัการศึกษาหลายแห่งในประเทศไทย รวมถึง
บริษทัหรือองคก์รท่ีมีมาตรฐานหลายๆ แห่ง ลว้นตอ้งการรับนกัศึกษาและบุคคลท่ีมีผลสอบ
มาตรฐาน TOEIC ดว้ยคะแนน 600 คะแนนข้ึนไปทั้งนั้น มหาวิทยาลยัหลายแห่งมีระเบียบ
บงัคบัใหน้กัศึกษาระดบัปริญญาตรีตอ้งไดผ้ลสอบ TOEIC ตามท่ีมหาวิทยาลยักาํหนดก่อน
จบการศึกษา ส่วนการทาํงานไม่ตอ้งถามเพราะบริษทัจาํนวนมากท่ีบุคลากรตอ้งมีผลสอบ 
TOEIC ไม่นอ้ยกวา่ 700 คะแนนจึงจะไดรั้บการคดัเลือกเขา้ทาํงาน นัน่หมายความวา่
ภาษาองักฤษ หรือ TOEIC มีความสาํคญัมากกวา่ท่ีเราจะปฏิเสธได ้ 
 สาํหรับขอ้สอบ TOEIC PART V กคื็อขอ้สอบ Sentence Completion นัน่เอง ซ่ึง
ขอ้สอบลกัษณะน้ีไม่เฉพาะเป็นขอ้สอบของ TOEIC เท่านั้น แต่ยงัเป็นขอ้สอบของขอ้สอบ
มาตรฐานหลายสาํนกัเช่น TOEFL, TU-GET, CU-TEP เป็นตน้ และท่ีน่าแปลกคือนกัศึกษา
ไทยมกัทาํขอ้สอบชุดน้ีไดค้ะแนนนอ้ยมาก ทาํใหส้อบไม่ผา่นเกณฑท่ี์ตั้งไว ้ ผูเ้ขียนเป็น
บุคคลท่ีนอกจากสอน TOEIC มาหลายปีแลว้ยงัเป็นผูเ้ขียนตาํราภาษาองักฤษจาํนวนมาก 
โดยเฉพาะ TOEIC และหนงัสือทุกเล่มกไ็ดรั้บความนิยมจากผูอ่้านเป็นอยา่งดียิง่ ทั้งน้ีก็
เพราะเน้ือหาท่ีกระชบัอ่านเขา้ใจง่าย การอธิบายและการเฉลยแบบฝึกหดัท่ีอ่านไดด้ว้ยตวัเอง
และท่ีสาํคญัคือทาํใหผู้อ่้านทาํขอ้สอบ TOEIC ไดค้ะแนนมากกวา่เดิม 
    

ผู้ช่วยศาสตราจารย์ ดร.นเรศ สุรสิทธ์ิ 
Ph.D. English (Comparative Literature) 
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คาํย่อทีใ่ช้ในเล่ม 

คาํย่อ คาํเต็ม ความหมาย 

s subject ประธาน 
obj. object กรรม 

n noun คาํนาม 
adj. adjective คาํคุณศพัท ์

v verb กริยา 
adv. adverb กริยาวเิศษณ์ 
prep. preposition คาํบุพบท 

s1 subject 1 ประธานตวัท่ี 1 
v 1 verb 1 กริยาตวัท่ี 1 
s2 subject2 ประธานตวัท่ี 2 
v 2 verb 2 กริยาตวัท่ี 2 
v 1 verb 1 กริยาช่องท่ี 1 
v 2 verb 2 กริยาช่องท่ี 2 
v 3 verb 3 กริยาช่องท่ี 3 
v ing verb ing กริยาเติม ing 
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บทที ่1 

เทคนคิพชิิตขอ้สอบ TOEIC PART V 
 

------------------------------ 

 ขอ้สอบ TOEIC Part V คือขอ้สอบ Sentence Completion หรือข้อสอบที่ถาม

เกี่ยวกบัเน้ือหาไวยากรณห์รือโครงสร้างภาษา หน้าที่ของคาํต่างๆ รวมถงึการใช้ศัพท์

ภาษาองักฤษด้วย ข้อสอบชนิดน้ีมีความยากและความง่ายอยู่ในตวัเอง ส่วนที่ยากคือ

ข้อสอบชุดน้ีสามารถออกข้อสอบถามคาํศพัทไ์ด้ เช่น  

 You can only get the medication with a doctor’s _________. 

 A)   prescription   C)  inscription 

 B)   subscription   D) description 

 ที่บอกว่าข้อสอบข้อน้ียากเพราะเป็นข้อสอบที่ถามศัพท ์ สงัเกตได้จากตัวเลือกทั้งสี่

ตัวล้วนแต่เป็นคาํนามลงท้ายด้วย tion ด้วยกนัทั้งน้ัน ดังน้ันคนที่จะทาํข้อสอบข้อน้ีได้

จาํเป็นต้องแปลโจทย์และตัวเลือกได้ จะใช้กฎหรือโครงสร้างภาษาตามที่เรียนมาๆ ช่วย

เพียงอย่างเดียวไม่ได้  

 นอกจากผู้เรียนต้องเข้าใจโครงสร้างภาษาองักฤษดีแล้ว ยังต้องรู้คาํศัพทม์าก

พอสมควรด้วยจึงจะสามารถทาํข้อสอบ Sentence Completion ได้คะแนนมากๆ ด้วยเหตุน้ี

ผู้เรียนจึงต้องทาํความเข้าใจเน้ือหาไวยากรณห์รือที่เรียกว่าโครงสร้างภาษาให้เข้าใจและใช้

ให้เป็น นอกจากน้ันยังต้องท่องจาํศัพทส์าํคัญๆ ให้ได้มากพอสมควรด้วยเพ่ือประโยชน์

สาํหรับการทาํข้อสอบ Sentence Completion รวมถงึการฟัง การพูด การอ่านและการเขยีน

ด้วย  

 ส่วนที่ง่ายของข้อสอบ Sentence Completion คือข้อสอบที่ออกถามโครงสร้าง

ไวยากรณ ์ ซ่ึงข้อสอบชนิดน้ีต้องอาศัยการกาํหนดตาํแหน่งเวลาทาํข้อสอบ ที่บอกว่าง่าย

เพราะผู้เรียนสามารถรู้ ได้ทนัทว่ีาข้อสอบที่กาํลังทาํอยู่น้ันถามอะไร โดยดูจากตาํแหน่งที่

หายไปในโจทย์ ซ่ึงคาํที่หายไปส่วนมากกจ็ะเป็น 1) noun 2) pronoun 3) adjective 4) 

adverb 5) verb 6) linking words 7) preposition ดังน้ันข้อสอบที่ออกเกี่ยวกบัโครงสร้าง

จึงถอืว่าเป็นข้อสอบง่าย เพราะผู้เรียนสามารถกาํหนดตาํแหน่งและเลือกคาํตอบได้เลยโดย

ไม่ต้องแปล เช่น 

 She asked for his ___________ about taking a part time job. 

 A)   advise    C)  advice 

 B)   advisor    D) advisable 
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 ตาํแหน่งที่ถามคือคาํนาม เพราะวางไว้หลังสรรพนามแสดงความเป็นเจ้าของคอื 

his เม่ือรู้อย่างน้ีกต็ัดข้อ A และ ข้อ D ทิ้งได้สบายๆ เพราะข้อ A เป็นคาํกริยา ส่วนข้อ D 

เป็นคาํคุณศัพท ์มีคาํนามให้เลือกสองข้อ โดยข้อ B เป็นคนเพราะลงท้ายด้วย –or ส่วนข้อ 

C เป็นสิ่งของ ตอบ C แปลว่าคาํแนะนาํ 
 

เทคนคิการทําขอ้สอบ 

 สิ่งที่สาํคัญมากอย่างหน่ึงสาํหรับการเพ่ิมคะแนนข้อสอบ Sentence Completion 

คือเทคนิคการทาํข้อสอบ ด้วยเหตุที่เทคนิคการทาํข้อสอบเป็นปัจจัยเกื้อประการหน่ึงที่จะ

ทาํให้ผู้สอบประหยัดเวลาและสามารถทาํข้อสอบได้ทนัเวลาที่กาํหนดให้ เพราะสิ่งที่สาํคัญ

มากประการหน่ึงที่ทาํให้นักศึกษาทาํข้อสอบชนิดน้ีได้คะแนนน้อยคือเวลาสาํหรับการทาํ

ข้อสอบ จุดอ่อนน้ีสามารถแก้ไขได้ด้วยการใช้เทคนิคการทาํข้อสอบเข้ามาช่วย ซ่ึงเทคนิค

การทาํข้อสอบน้ีจะช่วยให้ผู้สอบทาํข้อสอบได้เรว็และแม่นยาํและที่สาํคญัคือสามารถทาํ

ข้อสอบได้ทนัเวลา  
 

  วิธีทําขอ้สอบ Sentence Completion ผูส้อบควรปฏิบติัดงันี้  
 

ขั้นตอนที ่1 อ่านโจทย์ให้จบประโยคก่อนเสมอ 

ขั้นตอนที ่ 2 จากน้ันกาํหนดตาํแหน่งที่หายไปว่าเป็นตาํแหน่งของอะไร ซ่ึงตาํแหน่งที่ออก

ข้อสอบมักจะเป็น 

2.1 ตําแหน่งของคํานามหายไป เช่น 

The project demands precision and accuracy, as well as ___________. 

 A) create    B) creation 

 C)  creatively   D) creativity 

 มีคาํนามให้เลือกสองข้อคือ B และ D ตอบข้อ D 
 

 The salesman was anxious to meet his ____________ for the month. 

 A) quota    B) sales 

 C)  number    D) consumer 
 

 ทั้งสี่ตัวเลือกเป็นคาํนาม ต้องแปลความหมาย เลือกตอบข้อ A 

 Newspapers spoke out against air ___________ in the city. 

 A) foul    B) unclean 

 C)  pollution   D) environment 
 

 มีตัวเลือกเป็นคาํนามมากกว่า 2 ต้องแปลความหมาย ตอบข้อ C 
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____________ made over the past few months have increased production. 

 A) Improve   B) Improving 

 C)  Improvement   D) Improvements 

แม้ว่าข้อสอบข้อน้ีจะถามแค่ตาํแหน่งเดียวกต็ามแต่ความจริงแล้วมีความซับซ้อน

มากกว่าน้ันเพราะนอกจากผู้สอบต้องรู้ ว่าตาํแหน่งที่หายไปเป็นตาํแหน่งของคาํนามแล้ว ยัง

ต้องรู้ ด้วยว่าเป็นเอกพจน์หรือพหูพจน์  

ประโยคเตม็ของข้อน้ีคือ ________ which were made over the past months 

have increased production. น่ันหมายความว่ากริยา made ที่เหน็อยู่น้ันอยู่ในประโยค 

adjective clause แต่ลดรปูเหลือ adjective phrase ส่วนกริยาของส่วนที่หายไปคอื have 

increased น่ันหมายความว่าประธานเป็นพหูพจน์ และตัวเลือกทั้งสี่ตัวมีคาํที่เป็นพหูพจน์

อยู่แค่คาํเดียวคือข้อ D ตอบขอ้ D 
 

2.2 ตําแหน่งของวลีหายไป เช่น 

___________ have become more powerful than many nations is an 

interesting topic of debate. 

 A) Whereas typical multinational corporations 

 B) When multinational corporations, they  

 C)  How and why multinational corporations 

 D) Why and how multinational corporations, they 

 ใช้ประโยคเป็นประธานของกริยา is เป็นการถามความรู้ เร่ือง Noun Clause ความ

จริงผู้เรียนต้องรู้ เร่ือง Noun Clause, Adjective Clause และ Adverb Clause เป็นอย่างด ี

จึงจะวิเคราะห์ข้อสอบได้ถูกต้อง ข้อสอบข้อน้ี ตอบข้อ C 

The first automobile ___________ in England cost less than two hundred 

pounds. 

 A) was made   B) manufacture 

 C)  manufactured   D) was manufactured 

 automobile เป็นประธานของกริยา cost ซ่ึงเป็นกริยาช่องที่ 2 (past form) ดังน้ัน

ตาํแหน่งที่หายไปจึงเป็นวลีที่เรียกว่า adjective phrase คาํตอบที่ถูกคอืข้อ C ความจริงแล้ว

มีรปูเตม็ที่เรียกว่า adjective clause คือ which was manufactured ตามกฎแล้วถ้าลดรปู 

adjective clause เพ่ือให้เป็น adjective phrase จะต้องลดสองส่วนคือ ตวัเช่ือมซ่ึงกไ็ด้แก่คาํ

จาํพวก who, which และกริยา verb to be (is, was, were, are) ที่สาํคัญคือเม่ือลดรปูแล้ว

จะเหลือกริยาเพียงสองรปูคือ Verb
3
 และ Verb

ing
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If the members of the committee had known ________, someone could have 

asked him to speak at the awards ceremony. 

 A) he was who   B) who was he 

 C)  who he was   D) whom was he 

 ตอบข้อ C ถ้าอ่านเร่ือง Adjective Clause จะเหน็ชัดเจนว่าข้อ A ผดิเพราะไม่มี

คาํเช่ือมที่เรียกว่า Relative Pronoun ข้อ B ผดิเพราะเรียงประโยคผดิ เพราะ Adjective 

Clause จะอยู่ในรปู marker + subject + verb เสมอ ข้อ D ผดิเพราะ whom เป็นประธาน

ไม่ได้ 

 2.3 ตําแหน่งของคําคุณศพัทห์ายไป เช่น 

 Golf was one of his favorite __________ pursuits. 

 A) creativity   B) recreational 

 C)  procreation   D) enthusiasm 

 ตาํแหน่งหน้าคาํนามเป็นตาํแหน่งของ adjective ทาํข้อสอบได้แบบง่ายๆ โดยการ

ตัดตัวเลือกที่ไม่ใช่คาํคุณศัพทท์ิ้งก่อนเสมอ (ถ้าแปลไม่ได้กใ็ห้ดูที่วลีลงท้ายคาํซ่ึงจะบอก

ลักษณะคาํว่าเป็นคาํอะไร) มีคาํคุณศัพทอ์ยู่ข้อเดียวคือข้อ B (ข้อสอบอาจออกตัวเลือก

เป็นคาํคุณศัพทท์ั้งสี่ตัวเลือกกไ็ด้) 

 The monitoring systems are quite ________ one another. 

 A) differ from   B) different to 

 C)  different than   D) different from 

 หลัง verb to be ออกข้อสอบสามตาํแหน่งคือ verb
ing

, verb
3
 และคําคณุศพัท ์

ตัวเลือกที่เป็นกริยามีหน่ึงตัวเลือกคือข้อ A แต่เป็นช่องที่ 1 (simple form) ตดัทิ้งได้

สบายๆ ตัวเลือกที่เหลืออกีสามตัวเลือกล้วนแต่เป็นคาํคุณศัพท ์(ลงท้ายด้วย ent) เลือกข้อ 

D เพราะ different ตามด้วย from เสมอ ส่วน quite เป็นคาํกริยาวิเศษณข์ยายคาํคุณศัพท์

วางไว้หน้าคาํคุณศัพทไ์ด้ 

 ถ้าออกข้อสอบตาํแหน่งคาํคุณศัพทก์จ็ะวางไว้ในสองตาํแหน่งหลักตามตัวอย่าง

ข้างบนน้ี  

 We received a call ________ information on the new system. 

 A) requested   B) to request 

 C)  requesting   D) for requesting 

 ตอบข้อ C เพราะตาํแหน่งที่หายไปเป็นตาํแหน่งของคาํคุณศัพท ์ โดยสงัเกตจาก

ด้านหลังเป็นคาํนามคือ information และตัวเลือกที่เป็นคาํคุณศัพทไ์ด้กมี็เพียงสองตัว

เท่าน้ันคือ A และ C  
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 2.4 ตําแหน่งของคํากริยาหายไป  

 ตาํแหน่งของกริยาจะถูกนาํมาออกข้อสอบมากที่สดุ เพราะการออกส่วนกริยาจะ

เกี่ยวพันธก์บัหลายๆ ประเดน็ที่ผู้สอบต้องคิด เช่นเกี่ยวกบั active voice และ passive 

voice เกี่ยวกบั verb forms เกี่ยวกบัความหมายของกริยาเป็นต้น  

The old steel pipes were ___________ with long-lasting plastic tubing. 

 A) ordered    B) replaced 

 C)  included   D) transported 

 ตอบข้อ B ความจริงข้อสอบข้อน้ีเป็นข้อสอบยากเพราะตัวเลือกทั้งสี่ตัวเป็นกริยา

และเป็นกริยาช่องที่สามเหมือนกนัหมดทาํให้ต้องแปล 

 The problems __________ as the chamber became hotter. 

 A) develop    B) develops 

 C)  developed   D) developing 

 ตาํแหน่งที่หายไปเป็นกริยา ตัวเลือกทั้งสี่ตัวกล้็วนแต่เป็นกริยาทั้งสิ้น แต่ข้อสอบ

ข้อน้ีง่ายกว่าข้อที่แล้วมาก เพราะว่ากริยามีรปูร่างที่แตกต่างกนัน่ันเอง การทาํข้อสอบที่

ถูกต้องคือการตัดตัวเลือกที่ผดิโครงสร้างทิ้งก่อนเสมอ ในข้อน้ีตัดข้อ B ก่อนเพ่ือน เพราะ

ประธานเป็นพหูพจน์กริยาจะเติม s, es ไม่ได้ (บ่อยคร้ังที่นักศึกษาตกม้าตายเพราะข้อ

ง่ายๆ เช่นน้ี) ตัดข้อ D ทิ้งเพราะไม่มี verb to be อยู่ด้านหน้าแต่ใช้กริยารปู ing ดงัน้ันจึง

เหลือตัวเลือกแค่สองตัว ตอบข้อ C เป็นกริยาในรปูอดีต เพราะกริยาในประโยคอกีตัวคือ 

became เป็นอดีตน่ันเอง 

Sixty percent of the employees have already _______ the training course. 

 A) completed   B) completely 

 C)  completion   D) completing 

 ข้อน้ีเป็นข้อสอบที่ง่ายเพราะสามารถตอบตามโครงสร้างที่เรียนได้ have +  verb
3
 

ดังน้ันจึงมีข้อเดียวที่ตอบได้คือ A 

Violence in the workplace _______ to be dealt with as soon as it happens. 

 A) needs    B) needed 

 C)  is needed   D) is necessary 

 ประธานคือ Violence เป็นเอกพจน์และไม่ใช่คนจึงไม่สามารถต้องการ (need) 

อะไรได้ดังน้ันข้อน้ีจึงเลือกข้อ C ซ่ึงเป็น passive voice 

 2.5 ตําแหน่งของคําบุพบทหายไป 
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The business office was closed _________ the holiday. 

 A) because    B) for 

 C)  at    D) in 

 ตอบขอ้ B 

We provided a limited warranty _________ damage from shipping. 

 A) to     B) with 

 C)  from    D) against 

 ตอบขอ้ D 

 Young people are taught to have respect _________ age. 

 A) to    B) for 

 C)  over    D) through 

 ตอบขอ้ B 

 

 2.6 ตําแหน่งของคําเช่ือมหายไป  

Finding the company _____ products meet your requirements is not always 

easy. 

 A) is    B) that 

 C)  which    D) whose 

 Finding เป็นประธานของกริยา is ส่วน products เป็นประธานของกริยา meet 

ดังน้ันข้อ A จึงตัดทิ้งเพราะไม่มีประธานให้ ตัดข้อ B ทิ้งเพราะ that เป็นตัวเช่ือมจะไม่

นาํมาออกข้อสอบ TOEIC เพราะว่าใช้แทนได้ทั้งคนและสิ่งของ ตอบข้อ D เพราะ whose 

+ noun และ whose ใช้แทนคน ในที่น้ี company หมายถงึเจ้าของสนิค้า 

The companies always try to cut costs ____ they begin to experience 

financial difficulties.  

 A) where    B) what 

 C)  when    D) why 

 ตอบข้อ C ข้อน้ีเป็นข้อสอบที่ตอบตามความหมายคือต้องแปล 

 They asked ________ the order was not sent. 

 A) who    B) why 

 C)  for reason   D) the explanation 

 ข้อน้ีง่ายมากเพราะข้อ C และ D ตอบไม่ได้เพราะเป็นวลี ดังน้ันจึงเหลือ A และ B 

ตัด A ทิ้งเพราะต้องใช้ในโครงสร้าง who + verb ดังน้ันจึงตอบ B 
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_______ labor negotiations, management must be available at all times. 

 A) As of    B) Since 

 C)  Due to    D) Because 

 ตอบข้อ C เพราะ Due to + noun หรือ phrase ข้อ B และ D จะต้องใช้ประโยค

ตามหลัง ส่วนข้อ A ผดิความหมาย 

 2.7 ตําแหน่งของคํากริยาวิเศษณห์ายไป  

Twenty years ago, few people expected the _______ technological 

development that has taken place.  

 A) drama    B) dramatic 

 C)  dramatical   D) dramatically 

 ตาํแหน่งที่หายไปเป็นตาํแหน่งของ adverb จากโครงสร้าง the + adverb + 

adjective + noun ดังน้ันจึงตอบข้อ D เพราะเป็นรปู adverb เพียงข้อเดียว 

The airplane descended ________ to avoid the storm. 

 A) quick    B) quicker 

 C)  quickly    D) quickness 

 ตอบข้อ C เพราะตาํแหน่งที่หายไปเป็นตาํแหน่งของ adverb ทาํหน้าที่ขยาย

คาํกริยาคือ descended 

ขั้นตอนที ่ 3 ตัดตัวเลือกที่รปูร่างไม่ตรงกบัตาํแหน่ง (ตัวเลือกที่ผดิโครงสร้างหรือผดิ

ไวยากรณ)์ ทิ้งก่อนเสมอ (ถ้ามี) เช่น 

The plane _________ 20 minutes late because of bad weather. 

 A) land    B) landed 

 C)  landing    D) landed down 

 ส่วนที่หายไปเป็นกริยา จากตัวเลือกทั้งสี่ตวัสามารถตดัทิ้งได้ดังน้ี 

 1) ตัดข้อ A ทิ้งได้ เพราะประธานเป็นเอกพจน์แต่กริยาเป็นพหูพจน์ 

 2) ตัดข้อ C ทิ้งเพราะกริยาเป็น gerund เม่ือใช้ต้องมี verb to be นาํหน้า 

 3) เหลือตัวเลือกให้เลือกเพียง 2 ตัวเลือกคือ A และ D (ถ้าเดาจะได้เดาแค่สอง

ตัวเลือก) ถ้าแปลศัพทไ์ด้จะต้องตอบ A เพราะ landed แปลว่าลงจอดไม่ใช้คู่กบั down  

The summit meeting brought new hope for an ____ in international 

cooperation. 

 A) increase    B) increased 

 C)  increasing   D) increasingly 
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 ตาํแหน่งที่หายไปเป็นตาํแหน่งของคาํนาม สงัเกตจาก an ตัดตวัเลือกที่ไม่ใช่

คาํนามได้ดังน้ี 

 1) ตัดข้อ B เพราะเป็นกริยาช่อง 2 หรือ 3 

 2) ตัดข้อ D เพราะเป็นกริยาวิเศษณ ์(adverb)  

 3) ข้อ A ดูเหมือนจะเป็นกริยาช่องที่หน่ึง แต่ความจริงแล้วไม่ใช่กริยาเพราะถูก

นาํมาใช้เป็นคาํนาม ให้ตอบข้อ A 

 4) ข้อ C เป็นข้อลวงเพราะคนส่วนมากจะคิดว่ากริยาแท้โดยทั่วไปเม่ือเติม ing จะ

เป็นคาํนามได้ แต่ความจริงแล้วกเ็ป็นคาํคุณศัพทไ์ด้เช่นกนั 

The major ________ many obstacles to win the election.  

 A) overcome   B) overcame 

 C)  overcomes   D) overcoming 

 ตาํแหน่งที่หายไปเป็นคาํกริยา เม่ือรู้ตาํแหน่งกส็ามารถตัดได้ดังน้ี 

 1) ตัดข้อ A ทิ้งเพราะประธาน major เป็นเอกพจน์ แต่กริยา overcome เป็นกริยา

พหูพจน์ 

 2) ตัดข้อ D ทิ้งเพราะกริยาเติม ing จะใช้ได้ต้องมี verb to be นาํหน้า 

 3) เหลือกริยาให้เลือกสองข้อซ่ึงต่างกนัตรงที่ข้อ B เป็น past tense ส่วนข้อ C 

เป็น present tense เลือกตอบข้อ B เพราะศัพท ์ key words ในโจทย์คือ to win the 

election น่ันหมายความว่าการเลือกตั้งได้จบลงแล้ว 
 
 

ชนดิของขอ้สอบ 

 1) ขอ้สอบง่าย (ใช้วิธวิีเคราะห์เหมือนที่กล่าวมาแล้ว) 

 ข้อสอบง่ายคอืข้อสอบที่ตัวเลือกทั้งสี่ตัวเลือกเป็นคาํคนละชนิดกนัเช่นเป็นคาํนาม

บ้าง เป็นคาํคุณศัพทบ้์าง เป็นคาํกริยาบ้าง เป็นคาํกริยาวิเศษณบ้์าง  

When he arrived, he was already _______ difficult breathing. 

 A) go    B) have 

 C)  gone    D) having 

 ตาํแหน่งที่หายไปเป็นตาํแหน่งของกริยาเพราะอยู่หลัง verb to be (was) ที่สาํคัญ

คือกริยาหลัง verb to be มีเพียงสองรปูคือ verb
ing

 และ verb
3
 เม่ือรู้อย่างน้ีกต็ดัข้อที่ผดิ

โครงสร้างได้ดงัน้ี 

 1) ตัดข้อ A และ B ทิ้งเพราะเป็นกริยาช่องที่ 1 

 2) เหลือตัวเลือกสองตัวที่ถูกตามโครงสร้าง เลือกตอบข้อ D เพราะประธานเป็น

คนจึงควรทาํเอง (breathing หายใจ)  
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The assembly instructions will provide you all the information you _______. 

 A) need    B) needs 

 C)  needful    D) necessary 

 ตาํแหน่งที่หายไปเป็นกริยาเพราะประธานคือ you ตัดตัวเลือกที่ไม่ตรงกบั

โครงสร้างได้ดงัน้ี 

 1) ตัด B ทิ้งเพราะเป็นกริยาของประธานเอกพจน์เพราะ needs เติม s  

 2) ตัดข้อ C ทิ้งเพราะไม่ใช่กริยา สงัเกตจากเติม -ful ที่ท้ายคาํ 

 3) ตัดข้อ D ทิ้งเพราะเป็นคาํคุณศัพท ์

 4) สดุท้ายถ้าข้อสอบออกแบบน้ีเท่ากบัข้อสอบให้คะแนนเปล่าๆ เลือกตอบข้อ A  

 วิเคราะห์ข้อสอบต่อไปน้ีเพ่ือทดสอบว่าคุณเข้าใจวิธทีาํข้อสอบแบบง่าย ดีมากน้อย

ขนาดไหน 

1) A one-month deposit is _______ from anyone renting an apartment. 

 A) paid    B) money 

 C)  in need    D) required 

2) _______ having hired additional inspectors, quality did not improve. 

 A) Due to    B) Although 

 C)  Because of   D) In spite of  

3) It is said that the __________ has improved a lot in recent years. 

 A) finance    B) economy 

 C)  financial   D) economical 

4) The tour group was ________ patiently in the lobby when the bus finally 

arrived. 

 A) ready    B) paused 

 C)  invited    D) waiting 

 ข้อหน่ึงตอบข้อด ีข้อสองตอบข้อด ีข้อสามตอบข้อบ ีข้อสี่ตอบข้อด ี

 2) ขอ้สอบยาก (มีวิธทีาํดังน้ี) 

  ข้อสอบยากคอืข้อสอบที่ตัดตัวเลือกที่ผดิโครงสร้างทิ้งแล้วแต่ยังเหลือตัวเลือกที่

ถูกต้องตามโครงสร้างมากกว่า 1 ตัวเลือก (บางคร้ังทั้งสี่ตัวเลือกตัดทิ้งไม่ได้เลยกมี็) ใน

ปัจจุบันข้อสอบชนิดน้ีเป็นข้อสอบที่ถูกนาํมาออกข้อสอบ Part V (Sentence Completion) 

มากที่สดุ ซ่ึงข้อสอบเน้นการถามศัพทเ์ป็นหลัก 

ก่อนที่จะเลือกตอบข้อใดข้อหน่ึงน้ันผู้เรียนต้องกลับไปดูคาํศัพท ์ key words ใน

โจทย์อกีคร้ังว่าคาํเหล่าน้ันกาํลังพูดถงึเร่ืองอะไรอยู่ เช่น 
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Anybody entering an auditorium after a performance has begun is bound to 

________ the act. 

 A) disrupt    B) interact 

 C)  interfere   D) intervene 

 ตาํแหน่งที่หายไปเป็นคาํกริยาช่องที่หน่ึงตามโครงสร้างที่ได้เรียนมาก่อนหน้าน้ี to 

+ verb
1
 แต่ตัวเลือกทั้งสี่ตวัเลือกล้วนแต่เป็นกริยาช่องที่หน่ึง ดังน้ันข้อน้ีจึงต้องอาศัยการ

แปลเป็นหลัก เหนือสิ่งอื่นใดข้อสอบประเภทน้ีผู้สอบควรจะรู้ความหมายของตัวเลือกและรู้

ศัพท ์key words บางคาํในโจทย์เช่นคาํว่า auditorium (ห้องบรรยาย) performance (การ

แสดง) bound (เข้าข่าย) ส่วนตัวเลือกทั้งสี่มีความหมายต่างกนัดังน้ี 

A) disrupt (รบกวน)   B) interact (มีปฏกิริิยาต่อ) 

C) interfere (ยุ่ง)   D) intervene (แทรกแซง) 

 ตอบข้อ A เป็นการตอบตามความหมาย  

 Baskets of flowers ________ the new restaurant. 

 A) painted    B) showed 

 C)  designed   D) decorated 

 ตาํแหน่งที่หายไปเป็นตาํแหน่งของกริยา ตัวเลือกทั้งสี่ตัวล้วนแต่เป็นกริยาและที่

สาํคัญคือเป็นกริยาช่องที่ 2 เหมือนกนัหมด หน้าที่ของผู้ทาํข้อสอบต้องรู้อย่างน้อย (เพ่ือ

เอาชนะข้อสอบที่ถามศพัท)์ คือ 

 1) ความหมายของคาํศัพท ์ key words ในโจทย์ ในข้อน้ีกมี็ baskets of flowers 

(ตะกร้าดอกไม้) restaurant (ภัตตาคาร) เม่ือแปลได้อย่างน้ีกต้็องคิดต่อว่า ‘ตะกร้าดอกไม้

เอาไปทาํอะไรในภตัตาคาร’ 

 2) รู้ความหมายของตัวเลือก  

 A) painted (ระบายส)ี  B) showed (แสดง) 

 C)  designed (ออกแบบ)  D) decorated (ตกแต่ง) 

 คิดว่าตอบข้อใดครับ แน่นอนกระเช้าดอกไม้หรือตะกร้าดอกไม้ต้องนาํไปประดับ

ตกแต่งร้าน  

 ดังน้ันเล่ียงไม่ได้ที่ผู้เรียนต้องเพ่ิมศัพทใ์ห้กบัตัวเองเพ่ือพิชิตข้อสอบ Sentence 

Completion ที่ออกเกี่ยวกบัศัพท ์

 The airport was temporarily __________ because of weather. 

 A) closed    B) stormed 

 C)  delayed    D) eliminated 
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 ตาํแหน่งที่หายไปเป็นตาํแหน่งของกริยาซ่ึงต้องอยู่ในสองรปู คือ Verb
ing

 หรือ 

Verb
3
 เพราะวางไว้หลัง verb to be ทั้งสี่ตัวเลือกเป็นกริยาช่องที่ 3 

 1) ศัพท ์ key words ในโจทย์มี airport (สนามบิน) temporarily (ช่ัวคราว) 

weather (สภาพอากาศ) ผู้เรียนต้องคิดต่อว่า ‘สภาพอากาศมาเกีย่วกบัสนามบินไดอ้ย่างไร

เป็นการชัว่คราว’ 

 2) ตัวเลือกทั้งสี่มีความหมายต่างกนัดังน้ี 

 A) closed (ถูกปิด)   B) stormed (ถูกโจมต)ี 

 C) delayed (ถูกทาํให้ล่าช้า)  D) eliminated (ถูกกาํจดั) 

 เม่ือดูความหมายโดยรวมแล้วคาํตอบต้องเป็นว่าสภาพอากาศทาํให้สนามบนิต้อง

ปิดช่ัวคราว ตอบข้อ A 

 They wanted to __________ on new small businesses. 

 A) establish   B) emphasize 

 C)  determine   D) concentrate 

 ตาํแหน่งที่หายไปเป็นกริยาช่องที่ 1 ตามโครงสร้าง to + verb
1
 

 1) ศัพท ์ key words ที่ผู้เรียนต้องแปลได้คือ wanted (ต้องการ) small 

businesses (ธุรกจิขนาดเลก็) เม่ือแปลได้บ้างแล้วกต้็องคิดว่า ‘พวกเขาตอ้งการทาํอะไรต่อ

ธุรกิจขนาดเลก็’ 

 2) ตัวเลือกทั้งสี่ตัวเลือกมีความหมายต่างกนัดังน้ี 

 A) establish (สร้าง, ตั้ง)  B) emphasize (เน้น) 

 C)  determine (กาํหนด)  D) concentrate (มุ่งเน้น) 

 3) หลังตาํแหน่งที่หายไปในโจทย์เป็นคาํ preposition คือ on ซ่ึงช่วยในการ

วิเคราะห์ได้พอสมควร เพราะตัวเลือกที่ใช้กบั on ได้คอืข้อ D จึงตอบข้อ D 

 They held an elaborate _____ when they opened the new building. 

 A) celebrity   B) celebration 

 C)  declaration   D) celebrating 

 ตาํแหน่งที่หายไปเป็นคาํนามดูจาก an + adjective + noun น่ันหมายความว่า 

elaborate เป็นคาํคุณศัพท ์ 

 1) ตัดข้อ D ทิ้งได้หน่ึงข้อเพราะรปูคาํนามคือข้อ B  

 2) ศัพท ์ key words ในโจทย์ที่ผู้เรียนต้องรู้คือ held (จัด) elaborate (ประณตี, 

รอบคอบ) new building (ตึกใหม่) จากน้ันผู้เรียนกต้็องคิดเพ่ิมว่า ‘พวกเขาจดัอะไรอย่าง

รอบคอบเมือ่เปิดตึกใหม่’ 

 3) ตัวเลือกที่เหลือมีความหมายดังน้ี 
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A) celebrity  (ความโด่งดัง) B) celebration (การฉลอง) 

 C)  declaration (การประกาศ)  

 เม่ือนาํมาประมวลเข้าด้วยกนัจะได้คาํตอบข้อ B คือจัดงานฉลองตึกใหม่ 

It is not surprising that airlines pay the most _________ to first-and 

business-class passengers.  

 A) fare    B) money 

 C)  attention   D) advertisement 

 ตาํแหน่งที่หายไปเป็นตาํแหน่งของคาํนามเพราะวางไว้หลังคาํคุณศัพท ์the most + 

noun ตัวเลือกทั้งสี่ตัวเลือกล้วนเป็นคาํนาม ดังน้ันจึงตดัทิ้งไม่ได้ 

 1) ศัพท ์ key words ที่ควรรู้ ในโจทย์คือ not surprising (ไม่แปลกใจ) airlines 

(สายการบิน) pay + อะไรจงึจะไดค้วามหมาย พอเหน็ pay กพ็อจะเดาออกว่าคาํตามหลัง

ควรเป็นคาํใด 

 2) pay ใช้นาํหน้า attention แปลว่า ดแูล เอาใจใส ่ เลือกตอบข้อ C ตาม

ความหมาย 

 เพ่ือทดสอบว่าผู้เรียนเข้าใจการวิเคราะห์ข้อสอบที่ออกเกี่ยวกบัศัพท ์ ลองทาํ

ข้อสอบต่อไปน้ีดูนะครับ 

 1) _____ is one of the major indicators of work efficiency. 

 A) Property   B) Propensity 

 C)  Productivity   D) Conductivity 

 อย่าเพ่ิงดูเฉลยนะครับทาํให้เสรจ็ก่อน 

 2) A credit line for the client was _______ by a loan officer. 

 A) asked    B) helped 

 C)  decided    D) approved 

3) To schedule the early flight, passengers have to book their ___ in person. 

 A) advances   B) resolutions 

 C)  restorations   D) reservations 

4) I asked the department manager if he could ________ me as to how to 

respond. 

 A) advise    B) advice 

 C)  devise    D) device 

 ข้อหน่ึงตอบข้อซี ข้อสองตอบข้อด ีข้อสามตอบข้อด ีข้อสี่ตอบข้อเอ  
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บทที ่2 

แบบฝึกหดั TOEIC PART V ชดุที ่1 

------------------------------ 

 แบบฝึกหัดต่อไปน้ีแบ่งออกเป็น 20 ชุดๆ ละ 20 ข้อแต่ละชุดให้เวลาทาํ 15 นาท ี

และหลังจากทาํข้อสอบแต่ละชุดเสรจ็แล้วสิ่งที่ผู้อ่านหนังสอืเล่มน้ีต้องทาํคืออ่านเฉลยอย่าง

รอบคอบ อย่าอ่านเฉพาะคาํตอบ เพราะวิธเีฉลยในหนังสอืเล่มน้ีถอืเป็นส่วนประกอบที่

สาํคัญมากที่ทาํให้หนังสอืเล่มน้ีแตกต่างจากหนังสอืเล่มอื่น ดังน้ันผู้เรียนต้องอ่านเฉลย

อย่างรอบคอบแล้วทาํความเข้าใจให้ดีทุกแบบฝึกหัด ในขณะเดียวกนักต้็องจาํความหมาย

ของศัพทเ์พ่ิมเติมด้วย 
 

แบบฝึกหดัที ่1 

1) ___________ in an atmosphere of rigid New England Puritanism, Harriet 

Beecher Stowe demonstrated an interest in theology at a young age.  

 A) Raise her   B) Raised 

 C)  Raising    D) She was raised 

2) Most universities ______ only people entering the freshmen class.  

 A) will be accepted  B) accept 

 C)  although it accepts  D) accepting 

3) The debate __________ by the partisan review drew a large crowd. 

 A) sponsored   B) was sponsored 

 C)  has sponsored   D) sponsoring 

4) Although the subscription department claims _________ our order, we are 

still getting the magazine.  

 A) having received   B) not receiving 

 C)  not to have received  D) was receiving  

5) The magnetic compass does not operate satisfactorily near the magnetic 

poles, nor __________ near the geographic poles.  

 A) does the marine gyrocompass  

 B) with the marine gyrocompass 

 C)  the marine gyrocompass does 

 D) the marine gyrocompass operates 
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6) __________, Benjamin Franklin made the periodical popular. 

 A) He was the owner and editor of the Pennsylvania Gazette 

 B) As owner and editor of the Pennsylvania Gazette 

 C)  That he was owner and editor of the Pennsylvania Gazette 

D) While the owner and editor of the Pennsylvania Gazette was 

7) Francis Preston Blair, Jr., ________ born in Kentucky, lived and practiced 

law in Missouri. 

 A) was    B) he was  

 C)  although   D) who he was 

8) ________ Vermont, threatened with invasion, declared itself an independent 

commonwealth.  

 A) In 1777 that it was  B) It was in 1777 that 

 C)  Because in 1777  D) That in 1777 

9) Lead ____as a material for sculpture since the time of the early Greeks.  

 A) has been used   B) being used 

 C)  has used   D) used 

10) Poe and Hawthorne __________ in the development of the short story as a 

distinctive American genre.  

 A) and both leaders were  B) they were both leaders 

 C)  were both leaders  D) who as leaders 

11) During the Civil War, the telegraph was used by armies in the field 

________ in history. 

 A) the first time   B) for the first time 

 C)  the first time that was  D) it was the first time 

12) Train robberies _________ in America than anywhere else in the world 

during the latter half of the nineteenth century.  

 A) were more frequent  B) which were more frequent 

 C)  more frequent than  D) they were more frequent than  
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13) Sheep are typically timid and defenseless, __________ the leader and to 

flock together.  

 A) they are tending to follow B) tending to follow 

 C)  with a tendency of following D) following the tendency of  

14) The swamp maple tree grows well in ____________ soil. 

 A) kinds of virtually all  B) virtually all kinds of 

 C)  all kinds for virtually  D) of virtually all kinds 

15) When a person speaks into a telephone, sound waves __________ by the 

person’s voice enter the mouthpiece.  

 A) to produce   B) are producing 

 C)  produced   D) which produced 

16) During the great periods of architecture, __________ has been subject to 

various canons or rules.  

 A) what constitutes perfect proportions 

 B) the most perfect proportions are 

 C)  while perfectly proportioning 

 D) there are some perfect proportions 

17) Benjamin Franklin’s contributions to the patriots’ cause during the American 

Revolution, and to the government __________, place him among the 

country’s greatest leaders.  

 A) follows    B) followed 

 C)  that followed   D) having it to follow 

18) People in prehistoric times created paints by grinding materials such as plants 

and clay into powder ________________. 

 A) water to be added  B) for adding water then 

 C)  and water added  D) and then adding water 
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19) The digestive enzyme pepsin breaks down proteins into components 

__________ readily absorbed by the human body. 

 A) that can be   B) and are 

 C)  which they   D) are to be 

20) An underlying assumption of most market research is that people are 

continually __________ financial decisions based on their desire for goods 

that give them the most satisfaction.  

 A) making    B) and make 

 C)  being made   D) having made 
 
 
 
 

แบบฝึกหดัที ่2 
 

1) Poodles were once used as retrievers in duck hunting, but the American 

Kennel Club does not consider them ___________ because they are now 

primarily kept as pets.  

 A) where sporting dogs  B) sporting dogs 

 C)  when sporting dogs  D) they are sporting dogs 

2) _______ a Chinook salmon enters a freshwater stream to breed, its appetite 

decreases, its throat begins to narrow, and its stomach shrinks.  

 A) How    B) When does 

 C)  As soon as   D) In which 

3) The practice of making excellent films based on rather obscure novels has 

been going on so long in the United States ________ constitute a tradition.  

 A) being    B) as to 

 C) so that    D) could 

4) Not only ____________ faster than mechanical switches, they also are free 

of arcing and mechanical wear.  

 A) electronic switches  B) because electronic switches 

 C)  are electronic switches  D) the electronic switches 

5) For thirteen years after his return from Europe, ___________. 

 A) the Chicago Daily News was worked for by Carl Sandburg 

 B) Carl Sandburg’s work for the Daily News 
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C)  when Carl Sandburg worked in Chicago for the Daily News 

 D) Carl Sandburg worked for the Chicago Daily News 

6) A sneeze cannot be performed voluntarily, _____ be easily suppressed.  

 A) nor can it   B) and cannot it 

 C)  nor it can   D) it cannot 

7) ___________ of color falls within the three fields of physics, physiology, 

and psychology.  

 A) The study   B) The studying 

 C)  It is the study   D) As the study 

8) Amelia Earhart, ________ woman to make a solo flight across the Atlantic 

Ocean , was born in 1898. 

 A) was the first   B) she was the first 

 C)  the first who was a  D) the first 

9) Some type of instrument _________ has been known to painters since the 

early Stone Age. 

 A) for applying paint  B) applying paint 

 C)  is for applying paint  D) for applying paint, it 

10) Often the design of scholarly investigation ____________ by the question it 

is addressing. 

 A) to affect   B) affects 

 C)  affected    D) will be affected 

11) ______ Henry Ford first sought financial backing for making cars, the very 

notion of clerks and farmers owing automobiles was considered ridiculous.  

 A) How    B) Even   

C)  When    D) Despite 

12) According to the third law of thermodynamics, _________ possible is –

273.16 degrees centigrade. 

 A) that temperature is lowest  B) the temperature is lowest 

 C)  lowest temperature     D) the lowest temperature 

13) Before every presidential election in the United States, the statisticians try to 

guess the proportion of the population that _________ for each candidate.  

 A) are voted   B) voting 
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 C)  to be voted   D) will vote 

14) After the First World War, the author Anais Nin became interested in the art 

movement known as Surrealism and in psychoanalysis, both __________ her 

novels and short stories.  

 A) in which the influence  B) of which influenced 

 C)  to have influence  D) its influence in 

15) ________ late 1960’s, more than five million adults were believed to be 

enrolled in correspondence study in the United States. 

 A) The     B) In the   

 C)  It was in the   D) When in the 

16) __________ Indiana, is in a rich farming and dairy area, it is primarily a 

diversified industrial center.  

 A) Fort Wayne   B) Although Fort Wayne, 

 C)  Fort Wayne is in  D) Fort Wayne, in 

17) The letters of the English alphabet ____ from Greece, Phoenicia, and Egypt.  

 A) came    B) coming  

 C)  that came   D) which have come 

18) Nearly every aspect of economic life is affected by __________. 

 A) they are seasonal variations  B) variations are seasonal 

 C)  that seasonal variations  D) seasonal variations 

19) _________ glasses can correct most sight defects in healthy eyes. 

 A) When well fitted  B) Well fitted when 

 C)  Well fitted if   D) If well fitted when 

20) Laurel and Hardy were an American film team _____________ comedies are 

among the most popular in the world. 

 A) whose    B) their  

 C)  that their   D) and whose 
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แบบฝึกหดัที ่3 
 

1)  The gymnasium facilities of this public school are _____________ those of 

the finest private school in the country. 

 A) second after   B) second only to  

 C)  first except for   D) second place from  

2) It was not until the students were seated _____________ the proctor realized 

he had the wrong test booklets. 

 A) that    B) when  

 C)  as soon as   D) and  

3) Once the employees had begun receiving financial information on the 

company, _______________ income.  

A) they diligently assisted in reducing costs and increasing  

B) it made the employees more eager to assist in reduce costs and 

increase  

 C)  diligently they assist to reduce costs and increase  

 D) with extreme diligence helped lower costs and increase  

4) A congressional committee has been appointed to study a new procedure 

_____________ to eliminate some costly expenditures. 

 A) that is expected   B) what is expected  

 C)  which expects   D) that expected  

5) Some people send job applications even when they are reasonably happy in 

their jobs, _______________ improving their position. 

 A) with hoping to   B) hoping that  

 C)  with hopes of    D) hoping to  

6) The mayor ___________ many obstacles to win the election. 

 A) overcome   B) overcame  

 C)  overcomes   D) overcoming  

7) There will be keen __________ for the bridge construction project. 

 A) compete   B) competing  

 C)  competition   D) composition  
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8) The owner of the company wanted to ____________ the business to another 

part of the city. 

 A) find    B) moving  

 C)  change    D) relocate  

9) The plumber attempted to loosen the nut with regular pliers but then decided 

he needed to retrieve his toolbox in order to use ___________. 

 A) another pliers   B) others pliers  

 C)  the others ones   D) another pair  

10) The committee has met and __________________. 

 A) have approve the budget  

B) budget was approved  

 C)  its approval of the budget 

D) approved the budget  

11) Professor Dale wrote ______________, which is expected to be published in 

the next few months. 

 A) a new textbook last year 

 B) last year a new textbook  

 C)  in last year a new textbook 

 D) during last year a new textbook  

12) ____________, that runner is likely to be the first one chosen. 

 A) Due to her agility and speed 

 B) Because of she is agile and fast  

 C)  Because agile and rapid 

 D) Because her agility and speed  

13) Because it is impossible for rescuers to dig through much of the rubble, the 

number of people affected by the devastating earthquake _________ yet been 

determined with certainty. 

 A) have not   B) has not  

 C)  not    D) only  
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14) The Board of Directors determined, after having tried to enter several related 

business arenas, __ concentrate on its core business.  

 A) that the company should B) should  

 C)  that      D) company should  

15) How long _______________ left in the cold wilderness is anybody’s guess, 

although it appears that they will all be brought back to health. 

 A) has been the children 

 B) have the children  

 C)  the children have been 

 D) the children been  

16) The company had a two-tier contingency plan in case power was lost, first 

using gas-operated generators, and then _____________ its distant safe 

operation, where the entire computer operation, including all hardware, 

software, and data, was able to be run without interruption. 

 A) initiation   B) initiate  

 C)  initiating   D) to initiate  

17) Of all the harmful bacteria that can be acquired from unsanitary food 

handling, E. Coli is the one ______ the most media attention. 

 A) that has gained   B) it has gained  

 C)  disease that it has gained  D) gained it  

18) The possibility of being sued is _____________ of construction companies.  

 A) often the greatest fear  B) often the fear greatest  

 C)  the greatest often fear  D) the often greatest fear  

19) After hurricane Floyd brushed by the East Florida Coast, emergency 

management agencies, __________ with each other and the Hurricane 

Center, coordinated efforts for evacuation of citizens. 

 A) working   B) works  

 C)  is working   D) has worked  

20) By analyzing high pressure systems, fronts, and other influences, weather 

forecasters can determine the direction towards which __________ to travel. 

 A) a storm is expected  B) is expected a storm  

 C)  is a storm expected  D) an expected storm  
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แบบฝึกหดัที ่4 
 

1) The director asked that the matter not ________ discussed outside the office. 

 A) be    B) is 

 C)  was    D) have  

2) The agency could place the advertisement in the magazine only if the client 

had no ____________. 

 A) reject    B) approve  

 C)  objects    D) objection  

3) Although alone and undistracted in the African jungle for several years, Dian 

Fossey _________ her studies of the great apes. 

 A) were never completed  B)  was never able to completed 

 C)  were never able to complete  D)  is never completing  

4) Stephen Hawking, along with his university professor, who ___ not teaching 

at the time,  published his first version of chaos theory early in his career.  

 A) was    B) were  

C)  did    D) would  

5) Early in his political career, Richard Nixon realized that the world of politics 

was ______ his nurturing childhood home among the Quakers. 

 A) unlike    B) like  

C)  not alike    D) like  

6) A long-time leader in fine clockworks, Seth Thomas manufactures products 

that are far superior and not at all ____________ its competitors’ products.  

 A) unlike     B) like 

 C)  alike    D) not alike 

7) The Old Man and the Sea, a novel about an old fisherman’s harrowing 

adventure catching a huge fish, is one of Ernest Hemingway’s ________ books. 

 A) most famous   B) the most famous  

 C)  are most famous  D) and most famous  

8) With great care and skill, _____________ Lasik surgery by peeling back a 

flap of the cornea so that it can be reshaped. 

 A) doctor performs   B) a doctor performs  

 C)  performance   D) performing  
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9) Wild animals are endangered not only by _______ by predators, pollution, 

and the many collectors of zoo specimens who encroach on their territory. 

 A) a hunting but also  B) a hunted but also  

 C)  hunting but also  D) an hunt but also  

10) Never to be outdone by his peers, Christopher Marlowe was once known as 

________. 

 A) scourge of Elizabeth’s England 

 B) scourge of the Elizabeth’s England  

 C)  the scourge of Elizabeth’s England 

 D) Elizabeth’s scourge of the England  

11) The government official was ______________ in a scheme to build a new 

sports complex. 

 A) involved   B) contained  

 C)  associated   D) participated  

12) The Internet has dramatically effected ______ people communicate.  

 A) the way    B) is the way  

 C)  that the way   D) which way do  

13) Swimming is a beneficial exercise, ________ aerobic activity and uses a 

number of muscle groups. 

 A) not only because it provides  

B) because it both provides  

 C)  for provision 

 D) as result of providing  

14) Neither Professor Johnson nor any other faculty member ____________ to 

apply for the dean’s position. 

 A) intend    B) intends  

 C)  are intending   D) has intend  

15) Being a private university, ____________ a well-organized charitable giving 

program in order to offer a sufficient number of quality courses and 

activities. 

 A) development of   B) it developed  

 C)  develop    D) developing  



-------------------------------------------------------Asst. Prof. Dr. Nares Surasith - 

 

29

16) _____________ did Arthur realize that there was danger. 

 A) Upon entering the store  

B) When he entered the store  

 C)  After he had entered the store 

 D) Only after entering the store  

17) A _______ is a secret meeting between courting lovers, often during the 

afternoon.  

 A) tryst    B) trysts 

 C)  the tryst    D) to tryst  

18) __________ in many colleges and universities, Latin is no longer spoken as 

an everyday tongue. 

 A) Although they are still studied 

 B) Although he is still studied  

 C)  Although this still studies 

 D) Although it is still studied  

19) ____________ have amphibious attributes, although not all are amphibians.  

 A) Much quadrupeds  B) More quadrupeds  

 C)  Many quadrupeds  D) A quadruped  

20) The committee members resented __________ of the meeting. 

 A) the president that he did not tell them 

 B) the president not to inform them  

 C)  the president’s not informing them 

 D) that the president had failed informing themselves  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



30  - แบบฝึก TOEIC PART V----------------------------------------------------------- 

 

แบบฝึกหดัที ่5 
 

1) The faculty of the university is not expected to approve the collective 

bargaining proposal, and ________________. 

 A) the administration either   B) neither is the administration  

C) neither the administration  D) the administration is not neither 

2) Scientists have discovered a similarity between ___________ chocolate and 

love affect one’s body chemistry. 

 A) the way    B) a way which  

 C)  which way   D) the ways that  

3) The company had difficulty distributing ____________ so that they could 

meet production quotas. 

A) sufficiently number of parts in a timely manner to its manufacturers 

B) a sufficient number of parts to its manufacturers in a timely manner 

C)  to its manufacturers in a timely manner a sufficient number of parts 

D) in a timely manner to its manufacturers a sufficient number of parts 

4) If the driver’s own car ___________ damaged, the favorite probably would 

have won the race. 

 A) had not been   B) not  

 C)  no had been   D) has  no be  

5) Most fruit and vegetable prices were reduced to move high inventories of 

_____________ products. 

 A) sales    B) imported  

 C)  marketing   D) perishable  

6) The manager was angry because somebody ________________. 

 A) had allowed the photographers to enter the building 

 B) had let the photographers to enter the building  

 C)  permitting the photographers enter the building 

 D) the photographers let into the building  

 

 

 

 


